BB

T2 FEE BREYWSRE ANZERE
ZAE (BT - 1)
=z N EF M ~ AN £ 8
(ZAA%K 240 F) (XA H% 240 H) =t b
w B H & Y & H & %
(a) (b) (b/a)
Sy i1 43,250 180.30 44,543.79 185.59 103.0
[ B 5L sy] [ 2,299.03 ] [ 9.57]
BEHIF SR & 8,530 35.60 8,724.68 36.35 102.3
[ B ZauEsy] [ 8.75 ] [ 0.03])
AT E 690 2.90 678.10 2.83 98 3
[ B 5L sy] [ 5.29 ] [ 0.02]
ARLF 2,230 9.30 3,532.11 14.72 158.4
[ B ZauEsy] [ 3.46 ] [ 0.01])
BT AT 7 ¥E 2,220 9.30 1,807.14 7.53 81.4
[ B 5L sy] [ 0.00 ] [ 0.00])
=R BETEDY) 990 4.10 810.21 3.38 81.8
Z DA 2,400 10.00 1,897.12 7.89 79.0
N7 5 3 34,720 144.70 35,819.11 149.24 103.2
[ B 5L sy] [ 2,290.28 ] [ 9.54]
RGPS I 4,440 18.50 4,775.20 19.90 107.5
PR % 5,660 23.60 8,014.88 33.39 141.6
[ B S sy] [ 509.53 ] [ 2.13])
vy SV
Fifgas< 3 21,030 87.60 18,415.53 76.73 87.6
ZDih, 3,590 15.00 4,613.50 19.22 128.5
[ B 5L sy] [ 1,780.75 ) [ 7.41)
M GCEZ L DY [ELY
R S — G 1)
5 7]% 7‘%‘ % == % T
* = T R 20 R (L
wooE ¥ 1,920 (29.5) 1,836 (18.1)
< 3,205 (49.3) 5,683 (56.1)
ESR - S 1,152 17.7) 1,654 (16.3)
z D ft, 228 (3.5) 964 (9.5) FEFE LTS | g s
2 6,505 (100.0) 10,137 (100.0)




